OM-AH

Parts List, AH/1E

16


http://www.cvisiontech.com/

OM-AH
Parts List — AH/1E

To order parts, contact your Groen Certified Service Agency. Supply the model designation, part description,
and number, quantity, and where applicable, voltage and phase.

Key Description Part No. Key Description Part No.
A. Hardware ASM AH/1E-40 Spark Ignition 117095 Safety Valve and Water Fill Assy 097010
Bracket, Gas Manifold 1/8 x 1 x 15-3/4"Ig 002006 Safety Valve 30 PSI 1/2" NPT 097009
Nameplate Class Il 1" x 4-1/2" long 003479 Elbow 90 Deg Street 1/2" NPT Black 096905
Hinge, Spring Loaded 18 Ga x 1 x 1-1/4" 004114 Plug Pipe 1/2" NPT 011146
Clamp Bar Pipe 1/4" x 1 x 4-1/2" Ig w/stud 004568 Elbow 90 Deg Street 1/2" NPT 004185
Door Insulated Pilot Light Assy 008201 Tee, 1/2" NPT 008772
Plate, Caution 1-3/8 x 2-1/4" 008350 Valve Swing Check 1/2" NPT 004187
Chain Single, Jack Link #16 600" long 009009 Nipple, 1/2" NPT x Close 008877
Screw, Sheet Metal pan hd #12 x 1/2" Ig 008769 Valve, Gate 1/2" NPT 004180
Bracket, faucet Mounting 16 Ga x 4-3/4" 009054 Label, Warning 098171
Diverter, Draft 6" AH/1E-20 -40 012474 Wiring Diagram Label 123863
Diverter, Draft 7" AH/1E-60 -80 -100 000576 Harness Wiring 123864
Nut hex Keps 1/4"-20 w/shakeproof washer 012940 Nut Hex 3/8"-16 005619
Nameplate, Groen - Large 055450 Washer, Lock #10 005619
Label, warranties void... 059201 Washer, Lock 3/8" 005618
Label Warning 093614 Water Treatment Kit 110324
B Cover Power Aid Assembly 047693 E Shell Outer/Inner Assembly 127445
C PotInner Assembly F Burner and Sensor Assembly
D TDO Kit G Gas Valve, Pipe & Elec Assembly 127335
Nut, Wing #10-24 for 1-1/2" & 2" 009028 Ignition Module Box Assembly 127334
Handle, 3" Dia Sanitary & TDO Valve 127452 Electrical Panel Assembly 123823
Strainer Assembly 9" Dia, 1/4" holes for 2" 009044
Handle, Sanitary DO-150 127452

See Following Pages for Assembly Parts

17


http://www.cvisiontech.com/

8l

SNOILIINNOD ddid USUY=AHL 1Y NO US8INOH8 UNNOdNOD LNIOr

LOINNOD 3dId a3av3, /.e  119NO A38IND3E ANNOJIWOD LNIOT

@@@@

Oc

)
®
©
©
©
©
(O]

[olclelelcfoofo) + OPReeOO
PPPEPOPOOO

[©]
©
©]

0262 ®
® ® 0 <Je
) ® ©
AN

®
®

©

©

®©

[©]

©

©
©)

© e e
@%@@

Ov-3L/HV — 1SI7 sjed

HV-INO


http://www.cvisiontech.com/

6l

82/960 Buo| ,9¢ 8|qe uonub| yeds oA IH 9l

979500 Bl .2/L-2 X .8/€ ‘BIddIN 0T G6L/60  Buign /L X 1dN .8/L MOgId 8w ,06 Sl
/79860 pndg oo JolIld 61 96/900 wnuiwnie go .v/L ‘Bulgniiold 1
821960 Buoy ,9¢ 8|qeD uoniub| Yeds oA IH 81 /¥9860 18 48UBIH ‘0%-31/HV PndS 204110 10iid
G61/60 Buigny /L X 1dN .8/L MOq|e djewW 06 LI /%9860 [@,00S1-0 ‘0¥-3L/HV pndS @040 j0Ild €1
96/900 wnuiwne go /L ‘Buigni jod 91 16,060 pesaH Jasliiid ¥/L X ZE-0L# MOIOS  ZL
/06800 1dN .} pesy alenbs ‘adid ‘bnild G| 90/960 19 48YBIH ‘0¥-JL/HV Assy Jauing jo|id
161060 peaH Jaisliild #/L X ZE-0L# MaIOS Y| G0/960 19.,00G}-0 ‘0¥-3L/HV Assy Jauing jojid
G0.960 A9Je JaybiH ‘Assy Jauing jo|id 90,960 8 J8ybiH ‘02-31/HY Assy Jauing jo|id
602960 A9I9 ,00G1-0 ‘Assy Jsuingjolld ¢l G0/960 19,00G}-0 ‘0Z-JL/HV Assy souingiolid LI
600900 peaH punoy 6] ,8/€ X ¥2-0L# MaIOS  Z| 600900 peaH punoy ‘6] ,8/€ X ¥Z-0L# MaIOS 0l
¥Z8eT ) Bununoy Jeuing jojid ‘yexoelg || ¥Z8¢21 Bununopy Jeuing ol 1exoelg 6
€0¥000 A9[3 JaybiH ‘dold ‘@oylo 182000 A9[3 JaybiH 0%-31/HY ‘doid ‘@d3uO
66£000 ABI9 ,00G1-0 “O'N ‘@O 0l 082000  A9[@,005L-0 ‘0F-IL/HVY “O'N ‘@HUO
86£000 deppug 6 182000 A9|3 J8ybIH 0Z-31L/HV ‘doid ‘@410
/6£000 LdN .p/€ ‘INN X207 8 687000  A9[@,0061-0 ‘0Z-JL/HY “O'N ‘@40 8
96£000 Jspnysaly /2 62000 LdN .8/€ ‘INN Y007 £
G6€000 peaHy JoxXIN 9 09¥000 adAy 3 ‘Bury Buiuteroy 9
ZvS0L0 uNusA G 6.2000 oy pndsg G
1€2800 1dN .z ®so|Q ‘a|ddIN ¥ 882000 lepnysaly ¢
¥1180 1dN .Z X.2/L-g ‘Buiysng Bupnpay ¢ /82000 unmueA €
682000 LdN .Z/L-2 ‘MoQI3 06 C 682000 LdN .Z/L-2 ‘MOQI3 .06 Z
9¥Z800 pesH Jjouing | 982000 pesH souing |
6v€.ZlL  00l- 2 08- 09-3L/HV ‘Alquassy sauing "4 LeeLzL 0t~ '8 02-31/HV ‘Alquiassy Jauung  °4
‘ON Med uonduosaqg Aoy ‘ON Med uonduoasag Koy

‘aseyd pue
abejjon ‘sjqeoiidde aioym pue ‘Ayuenb “Yequinu pue ‘uoiduosep ped ‘uoneubisep jspow ay) A|ddns Aausby 82iAI8S paljiLIeD Us0.L) INOA }orjuod ‘sped 1ep.io o)

0y-HV — 31sI7 sMed
HV-INO


http://www.cvisiontech.com/

0¢ Alquiassy [aued [e214)99|3

Aiquessy sjusuodwo) jaued juold Alquiassy |aued |043u0) |eo113o9] @ Buidid ‘@Ajep seo
91914 LX9
Q
8
Xk
E.II
~ oo @
I o [ {
- W ovmazons—@ Al _Je
lo Giil....m r>xo_xoz_zm<>> @ @ _E%“M
||®WI||IAMUIII
O @|\
_ A|QWIBSSY XOg S|NPOI\ UonIuUD|
-1
Bl /
@. [ |m|_
@Im@mu
i ® .
oD @Q @/ _WUHHHH
g_ 3GN3G
@ %L - :N”“
I -
]@(@Inl V4 ey
o o/

‘aseyd pue

abejjon ‘sjqeoiidde aioym pue ‘Aypuenb “Yequinu pue ‘uoiduosep ped ‘uoneubisep japow ay) A|ddns Aousby 82iAI8S paljILIeD US0.L) INOA }orjuod ‘sued 1epio o)
1sI7 sued

HV-INO


http://www.cvisiontech.com/

14

¥98¢ez1 Buuipn ‘sseuleq gL
9GZ1/0  Jaysem joosdaxeys/m gg-0L sdey INN - L SyelzlL OdAN /€ npuoo pibu ‘dwe) Gz
zssezl |loued [eaujos|3 91 #G5S00 Buol v X LdN .2/L ‘©®lddIN 2
£68//0 OV ¢ 8dAL JAV 0'E ‘@snd Gl L¥/800 L1dN .2/l mogl3 €2
950500 Buoy ,p/L-1 X Z€-8 PESY pUNOI MBIOS 6 LGGG00 Buol .z X 1dN .z/L ‘@lddIN 22
¥06900 HO-UO 8ds ‘youmg s|bbol g 628611 OMY 9-¥1 punosb ‘6n7 g gleezl seo) ‘OABA LT
71€210 jeysowlayy ‘qouy /L 78€810 Buol i/l X 2€-9 pesy punos ‘MaIos  / 289500 LdN .¥/L 006 ‘Moq|3 02
169600 Buoy ,8/€ X Zg-9 pesy punos meidg 9 ¥681/0 JaploH 8sn4 9 ogelzlL 67.2/L-Z X LdN .¥/L ‘©lddIN 61
zlLL0L (Buysng yeys) seydepy jejsowsdyl G (Koo AluO mojg 1sed4 dV €, ‘PgeT G 6GG80L L ¥ OISd ¥Z LdN .p/L 8inssaid youms  g|
€LezZ10 jejsowssyl ¢ 18800 OMY 8L#-t# 8l0d Z ooig leulwia]  § ZSSS00 67.2/1-¢ X LdN .2/} ‘®lddIN /1
€8e9lL1L [9zeg/m pay ybr Jojeoipul ¢ ¥9/500 Buoy ,8/¢ X zg-g pesy ued ‘maIos ¢ 221500 L1dN .2/L lInd ‘Buidnoy 91
¥8€9L1L [9zag/m Joquy Jybi Jojeolpu) g ¥€290L  "Md AO¥Z-80Z 089S APZ WG/ Juysuel] 0.¥S00 ¥Z-0L# X8H ‘INN G
£08¢ezl suoponuisu| g syybi Joyeolpul jege] | gLzl ‘Ud AOZL "09S AbZ Y6/ Jeulojsuel] g 186200 sse|9 ebneo Joj poy piens |
S08¢Z1 Klquassy sjusuodwo) [aued juoi4 z6Lzel APZ - 104U0D |oAST JoleM | S¥8200 Alqwessy sselo ybis ‘sbumiy ¢l
£28¢21 Klquassy |aued |ea11309|3 Zv.2800 Buol .p/e-¥ X e1a .8/G ‘eanL wbis 2zl
€1/690 Buoy ,8/€ X 2€-0L MeIOS 6 961660 Jeyawel(q g 8bneo aunsseid  L|
18¥500 WZ/L NN Wnpuoy g 9GZ1/0  Jaysem jooidaxeys/m ze-0L sdey INN /¢ G08¢zl Assy sjusuodwoy |pued juol4 0}
€€/€Z1  1dN .2/l Jeydepe sjew opseld ‘ynpuod 2 erLLolL 8qo.d Jolep Mo ‘Joog  GE 661260 aqn} .p/L X 8ew 1 dN .8/L ,06 Bumi4 6
682120 Ze-9sdoy INN 9 869500 Buol . p/€ X 02-¥/L ‘HH ‘Hog  Z¢ 867860  LdN .2/l #O-INYS [ENUEI ‘SED ‘OAlBA 8
£G61G680 a|npo\ uoubl g 650800 LdN .8/€ suolun ;06 ‘Moq|3  Lg 1GGS00 Buol 8 X 1dN .2/L ‘®ddIN 2
¥9/500 Buoy ,8/c X 2g-g MaIOS ¥ 6£¥200 8S0|0 X 1dN .8/€ ‘©lddIN  0¢ G6¥500 L1dN .Z/L ‘Uolun 506 ‘MoqiI3 9
Ly610L Jan0) 1oysen ¢ G98€Zl  8/€ X 1dN 8/€ X LdN ¢/1L Bupnpaiaa] 6z veeLzlL Alqwessy xog anpoy uoubl g
8¥6%01 8INS0joUT S|NPOJA UoUB| 18A0D 2 81700 Buol ,z/L-L X 1dN .Z/L ‘9lddIN 82 £z8eel Alqwessy sjusuodwo) [eojos|3
Gl/€2L ainsojoug s|npojy uoiub| yeds | ¥0G800 1dN .8/¢ peeH aienbg adiq ‘Bnid /2 G99%/0 8p0.jo8|J [oA8T Jelep €
veeLzL xog a|npojy uoiHubj 569560 0Z-¥/1L sday seH INN 92 GeelzZlL  Assy ued 39 09|13 R Buidid ‘OAjep se D
"ON Med uonduosag Aoy "ON Med uonduosag %)Y | *ON Med uonduasag %)Y |
‘aseyd pue
abejjon ‘siqeaiidde aioym pue ‘Ajpuenb ‘Jequinu pue ‘uonduasep Led ‘uoieubisop jopow sy} Alddns Aousby 02i1AI8S PaljILIeD) US0.L) INOA 1oBjU0I ‘sued Jeplo o]
}sI syed

HV-INO


http://www.cvisiontech.com/



